Time complexity

The time complexity of Prim's algorithm is O(E log V), where E is the number of edges in the
graph and V is the number of vertices in the graph. This is because the algorithm needs to sort
the edges in the graph at each step, which takes O(E log V) time.

Advantages

e Prim's algorithm is a simple and efficient algorithm for finding the minimum spanning
tree of a graph.

e |t is also a greedy algorithm, which means that it always finds a feasible solution to the
problem.

Disadvantages O u\k
e Prim's algorithm can be slow for graphs with a Iaécg@ef S; es. This is because the

algorithm needs to sort the edges in t
e Prim's algorithm can only be u Ini panning tree of a connected
graph. If the graph is n‘ then @al&h ill not terminate.
Applic |0ns P
Prim's algorithm can be used to solve a variety of problems, including:

¢ Finding the minimum cost of connecting a set of nodes with roads or wires.
¢ Finding the minimum cost of connecting a set of cities with flights.
¢ Finding the minimum cost of connecting a set of machines with a network.

Prim's algorithm is also used in a variety of other applications, such as:

o Natural language processing
e Robotics
e Operations research



